BRTW Fit on D0+D0bar Inv. Mass Plots from 1st Production

1. With MassD0 = 1.8648, sigma = 20MeV and Reject point at 3 sigma
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S/N ~ 13.78 (raw yield, from Yuri’s calculation)

Significance (s/√(s+b)) ~ 1.7375

2. With MassD0 = 1.8648, sigma = 20MeV and Reject point at 4 sigma
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S/N ~ 10.759 (raw yield, from Yuri’s calculation)

Significance (s/√(s+b)) ~ 2.2304

3. With MassD0 = 1.8648, sigma = 20MeV and Reject point at 5 sigma
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S/N ~ 10.7586 (raw yield, from Yuri’s calculation)

Significance (s/√(s+b)) ~ 3.4732

4. With MassD0 = 1.8648, sigma = 20MeV and Reject point at 5 sigma but with increased fit range (1.7,2.1)
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S/N ~ 10.4449 (raw yield, from Yuri’s calculation)

Significance (s/√(s+b)) ~ 1.3991

5. With MassD0 = 1.8648, sigma = 15.5MeV and Reject point at 5 sigma
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S/N ~ 8.8076 (raw yield, from Yuri’s calculation)

Significance (s/√(s+b)) ~ 1.3159


Sigma of the pure D0 sample (power law pT distribution)
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Pure D0 hijing sample gives a sigma of 15.5MeV



















